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(Answer all questions in this section in the spaces provided)
"1, Use logarithm table to evaluate.
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\ Ann, Beatrice and Caroline together invested
~started a small business. If the share of profit is Ksh. 2,300,
respectively, shared prop ortionally. Find the capital invested b
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5. Expand and simplify (3x - y) hence use the first three terms of the expansion to
apploxnnate the value of (6-021*
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atrix transforms 20 object into & straight line.
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7. Find the value of m for which the m
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* Inthe ggure be}ow PT is a tan
| gent.to the circle:at:T, P 9 SA 6cm
/ - 3cm. Calculate the length of ‘ . CU
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9. Aright angled triangle has 4 base 0f 153 cm and height 7.2 cm, each measgred]m the
nearest 3 mm. Determine the percentage error in finding the area of the triangle, glving
your answer tp 2 decimal places, P :
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_ ; i =6cm, AB=
12. Using a ruler and a pair of compasses only; construct triangle ABC in which BC=6 (3mks)
8.8cm and angle ABC= 22.50.

¥
v
~ny, . 5

kg‘rc'spcctiv"ely“arc mixed in the ratio
Find the percentage profit on the cost

. i 3i5°by mass. The mixture js ihcnv sold dt_‘s‘h‘;_ 160 per kg,
i prige: LA L e :

13. Two gradés of tea A ’ath‘, cosung sh l‘fO:O{'iind'lj'S.O per.

(3mks)

f

2o
f\l’."i"‘ Riso
e

r

S s taozes gy | = e o
__%__ ‘ : , 121,25

~

e o A L : = R'l,'qu‘{:’.}(gﬁn
Prefe = b= iniad » : .

= &\.-awﬁz“l' M
<

1E

Sl S d sy



https://digital-camscanner.onelink.me/P3GL/g26ffx3k

o o festn Ofthf: AP is 3, find the-commen-ratio-o fthe-GP difference of the AP

and common ratio of G
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15. The matrix M=(_3,; —2

y )‘maps a triangular object of area 7 square units onto one with

area of 35 square units. Find the value of x.
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16. The equation of a circle is given by
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" SECTION B (50 MARKS)

. (Answer any five qu’estions in this section)

17. A bag contains 3 black balls and 6 whi

ite balls. lfm_o‘bﬁ_ll,s are dr‘éwn from the bag one.ata
time, find the:

a) Probability ofdrawmg two white balls:

2mk;
i) With rcp]acement (2mks)

. b) Probablhty ofdrawmg a black baH a
i) Wlth replacement g

' ii) Wxthoutreplacerﬁent
=5 N N
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18. In the tria
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(b)  Taking BT = kBP Lnd AT = hAQ where hand k are real numbers.
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19. Complete the table below for the functions y

53c9sx-2 in the graph provided below.
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20. A plane leaves an airport /\ (41 59N, 36, A°W) at 9:00am and flies due north to airport B on
latitude 53.20N. Taking as 2 and the Fadius of the carth as 6370Km,
a) Calculate the dlﬁtancc covcxcd by the plane in km (4mks)
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b) The plane stopped for 30mmutes to refuel at B and ﬂew due east to C, 2500km from
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21.The curve given by the equatlon y = x + 1is defined by the values in the table below.

(2

mksj \

(a) Complete the table by filling in the missing values. )
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,’\

/ ;3 O/\BCD is aright pyramid on a rectangular base'with AB=8 cm, BC=6 cm,
' A0A=0B=0C=0p = 13 cm. Calculate,

(@) theheight of the pyramid.

(3mks)

O e

: (c) theangle bétwe‘éh’; |
(i) OB and Iz)c

X vi/' g @ E f )

| (i) : thc planes OBC and 0AD' 1 _?-

(2mks)

ol

..:‘! Ay . .



https://digital-camscanner.onelink.me/P3GL/g26ffx3k

’

¢s to hire two matatus for a'trip. The operators have a
Altogether 120 people have to travel. The opera

Toyota which carries 10 passengers and a Kombi which carries 20 passengers.

24. The games master wishe

and

s'on each round trip and the Kombi 1 litre on each

round trip. If the Toyota makes x round trips and the kombiy round trips;

el

ave only 20litres of fu

tors h

tre

'
1

the Toyota constimes 4 |

(2mks)

(a) write down four inequalities in x and y which must be satisfied .
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alities graphiczﬂly‘on the grid provided.
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ot
ki
i P .
. perators charge shs. 100 for each round trip in the Toyofa.and‘.'shs.BOO for each

i (c)Theo
"7 round trip in the kombi;: -
(i) determine the number oftnps made by each vehicle so:as to make the total
5 , (4mks)
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